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AN HOIS

M d01s FUHEH 29
el 2ONE FUMEH Y FUKXE 2 (B9 ®R)
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
—SeAd d2825 AHUE &9l
100,000 = 103 1,000
—olzZiolsds M2 300,000 * 43| 1,200
— S AMEX(AL) 21,000 » 48t A x 128 1,008
—T2lEe ElY 250,000 = 1CH = 12€ 3,000
O 5. dx=E 1,980
— SAJ AH(AHEZE)
165,000 = 1CH ~12& 1,980
HAHSHAH (L01s) 102,573 96,505 6,068
2H(201S) 102,573 96,505 6,068
2ZH(L01s) 102,573 96,505 6,068
201 Bt A | 60,813 55,753 5,060
01 AP 2t2ld] 12,738 10, 198 2,540
O 1. gEtx=2H| 8,034
— SEAMEX(A4) 21,000 » 58tA x 12& 1,260
—TglEe EY 250,000 *= 3CH = 3H 2,250
— 2A EY 100,000 = 1CH = 54 500
— SAI & =2l 500,000 *= 1CH = 13 500
—EBE 842 M 70,000 = 1004 700
—NERSS(BLAX) 15,000 = 15 * 12& 180
—MNEIRS2(XEX) 12,000 » 15 » 128 144
—2N289 JI242H| 2,500
O 5. SH(MA 28 =&
7,000 * 149 x 44 « 12& 4,704
02 352494l 48,075 45,555 2,520
O1. 3322 ¢ 48,075
- &3 2,800,000 = 12&€ 33,600
—RERZ 650,000 » 12&€ 7,800
— Aol ER2 600,000 » 6& 3,600
— Xt = XAl 30,000 * 13] 30
—AExEg= 800,000 » 13l 800
—SFHRE 2 200,000 * 23| 400
—0IFA HOZSTV bl = 18,700 = 12& 225
—NsSRLIELS 300,000 * 13 300
— 83X EA 2 600,000 * 13l 600
— =X HAH| 330,000 * 23| 660
—NHeX £E2 A 60,000 * 13] 60
202 04d| 31,680 31,680 0
01 2L Y] 31,680 31,680 0
O 2 &H 20,000 » 128 « 112 x 12& 31,680
203 R =AYl 10,080 9,072 1,008
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